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: INSTRUCTIONS
All questions in the Test are mulliple choice questions.

Each question carries one mark, with four alternatives out of which one answer is
correct.

There will be no negative marking.
Use only BLUE/BLACK Ball Point Pen to darken the appropriate oval.

Mark your response only at the appropriate space against the number eorrespondmg to
the question while answering on the OMR Response Sheet.

Marking more than one response sha!l be treated as wrong response.

Mark your response by completely darkening the relevant oval. The Mark should be
dark and the oval should be completely filled.

Use of calculator, Mobile is stnctly prohibited and use of these shall lead to
disqualification.

The candidate MUST remove the last Carbon copy (Candidate’s copy) of OMR after
completion of Test.

The question paper will be both in English & lejabl. In case of any doubt, English
version will be taken as final.
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Which of the following does not characterize business ac_tivity ? :

(a) Production of goods and services ' W
(b) Presence of risk ' e
(c) Sale and exchange of goods and services

(d) Salary or wages

ot fefamt 5 faoar aurg faferr & f'e'ﬁnar &at FAeEr ?

(8) <A »3 Re= E @3ues () #fem St de

© W»@ﬁ?@@%ﬂ»@%&*@# (d) 3ET A HRgS

 PSE’sare orgamzatlons owned by :

(a) Joint Hindu Family - (b) Government
| (c) Foreign Company (d) Private Entrepreneur

PSE ARE=t 75 7 niftfas Jeter 75 -

- (a) Fgas fdg ufsers g (b) RIT T
(¢ feomt dudt onmar . @) 5 Gorit g
The minimum number of members required for registration of a co-operative society are:
(@) Two (b) Seven (¢) Ten (d) Twenty
Afgarst AAMet 8 anrreelt ot S A & ule-ule Aftmr 3
@ % ) #3 (0 ®=A @ @

A public limited company can start business after
(a) Incorporation

(b) After promotion

(c) Afier registration

(d) After certificate of commencement of business

féa vafes faritfes dudt =av B o0 Faet
| @ ArEnus 3 ami (b)) SETImE -
(¢ eSS e @ aﬁzmm%mmg‘m

. Which of the followmg types of business orgamzatlons has a ‘separate legal entity’ ? |

" (a) Joint Hindu Fatmly Busmess (b) Partnership

(c) Joint Stock Company - (d) None of the Above

It fifanrt fR5° faast fami & aure Arer & mudt B v 38t 9 D ¢

(@ Fyas g ufsee = (b) TBHT

© e re @ SuIEsadtaR
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100

11.

Registration is not essential in case of

(a) Company S - (b)- * ‘Co-operative organization

(c) Co-qperative society (d) - ‘Business of Hindu Undivided Family
IfArgRs Agt &t 3 -

(a) Ut T & (b) wfoardt Arer st

() nfgerdt AArfedt st | (@ »EES {Jy ufsee 2 =y st

In a private company, there are restrictions regarding:

(@) Transfer of shares - (b)- Issue of prospectus

(c) Number of members (d) Al of the above

@) T aEEeE . (b) YRR Fdt s

() NIt & wftr (d Sz A

The maximum number of members of a Private company under The Companies Act 20'13,
has been changed from 50 to

(@ 75 b 100 . () 125 () 200

" B Miae 2013 nitls f&A dudntt St mifdeeH At SO0 S Tes A T It @ -

(& 75 . ® 100 (© 125 @ 200 -

A co-operative society is required to be registered under the Co-operative Socities Act

(a 1932 (b) 1952 (c) 1956 @ 1912

fea rfgarst Arredt § d-nm)fes Arrfedia wiae ___ nidls afrred d & 33 3

(8 1932 (b) 1952 ) 1956 @d 1912 -

Which of the following cannot be classified as objectives of business ? '
(a) Investment (b) Productivity (c) Profit-eaming (d) Innovation
Jst fefan f&9° fam o Todilares U @ @R € 39 ‘I adt stz w Aaer 3 ¢

(@ f&em () 83uessT () TFagE (4 *eUle=T3S
Which of these is not included as a separate item in the basié accounting equation ?

(a) Assets '7 o N ' (b) Revenues '

(c) Liabiliti&s_ o , | (d) Stock-holders’ equity

Hedl Jurarg Arias 99 fzger 196 fan § Sudt wirdten € 39 ‘3 Frfies adt° stz afer 7
(a) AUt ‘() HHES

(c) T (d) FRIX-J@sg T feafedt
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12.

13.

14.

15.

16.

The accrual basis of accounting records revenues when they are:

(a) Collected (b) Eamed B
(¢) Contracted (d) Readily available for use
Bt T @1 O 4% iz nmies foeres aeer 3 7 89

(a) TEISr SZnit widnT 08 (b) SIHEMF FITMF IS

(¢) Fafgs i adht 75 (@) =TT wE Gumen Jomt I
The unfavourable balance of P & L account should be:

(a) Added in Liabilities (b) ~ Subtracted from Current Assets
(c) Subtracted from Capital (d) Subtracted from Liabilities
P w3 L&Y 2 yfsew Haws 3o ofter D ;

(a) zedrt T A (b) TS RuShnit &3 uBar
© U e wete @ 8usss A

Which type of Expenses are paid out of gross Profit ?

(a) General expenses (b) Financed Expenses

(c) Selling expenses (d) All of the above
wwﬁ%ﬁﬂm%w@ﬁﬁ?maﬁ?ﬂ@% ?

(a) FUTS HIY (b) & uss

(c) feadt uge (@ €udes A

Sale of goods to Taman is wrongly debited to Daman’s account. Both are debtors of
business. This is an example of:

(a) Error of Omission (b) Error of Commission
(c) Error of Principle (d) Error of Original Entry

%aensﬁé&aa’raﬁm%éw%ﬁamwm €& Jt U9 @ YxE
aalfeaféaéam%

(@ mef%m"rétagz”réf ) fims & 3gd S

(c) fAU3 e 3adt & (d) ¥fsx féegw & 333t &t

The process of allocating the cost of an intangible asset over its useful life is called:

(a) Depletion (b) Impairment {c) Depreciation (d) Amortization
f¥a niafsa Aust & Gutiat Htes & o fsaares aos o yfafow aor@st ¥

(a) U A& (b) fears () H®wer (d) TIH I FuzTr
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17.

18.

19.

20,

Which of the followmg item will not appear in the cash-flow from operating activities
section when using director method ? '

(a) Payment of Suppliers (b) Payment of Employees

(¢) NetIncome (d) Collection from Customers
m%ﬁ@wa@mmmﬂﬁmﬁaa@%ﬁwﬁmw
&It Jeatt ¢

(a) yISlaat T gIEE (b) ST T FaI=
(c) HUnHEs (@ It IF
What does EBITDA mean ?

(a) Eamings Before Income-Tax, Depletion & Amortization

(b) Eamnings Between Income-Tax, Depreciation & Amortization
(c) Earnings Before Income-Tax, Depreciation & Amortization
(d) Eamings Before Interest, Taxes, Depreciation & Amortlzatlon
EBITDA & & »i9g J

(a) Earnings Before Income-Tax, Depletion & Amortization

(b) Eamings Between Income-Tax, Depreciation & Amortization
(c) Earnings Before Income-Tax, Depreciation & Amortization
(d) Eamings Before Interest, Taxes, Depreciation & Amortization

How is Working- Capital calculated ?

(@) WC = Shareholders’ Equity & long-term debts — Fixed Assets

(b) WC =Fixed Assets — Current Assets _
(c) WC = Shareholders’ Equity and Long-term debts + Fixed Assets
(d) WC = Fixed Assets + Current Assets

963 st ot o o A ARt 3 9

(8) WC = BnaJes9 o feafedt w3 Souat faz - Riag Fush
(b) WC = AfaT Rudmit - g Aughorf

(©) WC = Pnfadesq €t feafedt i3 douawt faz + Afag Hudtr
(d) WC = Afad Rustnit + o1 Audnt

- How is interest-coverage ratio calculated ?

(a) Operatmg Income (before interest & income-tax)/ Interest expense
(b) Net Income/ Interest expense

(c) Shareholders’ Equity/ Interest expense

(d) Long term Debts/ Interest expense

Interest-coverage "IU3 & diza fa St Adt ¥ 92

(@) PHE e (o viZ vves a9 3 ufoer)/fenm yee

(®) 5 niHTs/fenta ygg

(c) PmId®sT ot feafedt foum yag

(d) Tow s fas/fora yao
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21.

22,

23.

24,

An Opportunity Cost is :

(a) The difference between the total-cost of one- alternative and total-cost of another
alternative. :

J'l

(b) The benefit foregone when one al‘temative is selected rather than another_.
{(c) Acost that is saved by not adopting a given alternative. -
(d) A cost that continues to be mcurred even if there is no actmty
neHT TEF I

@) i feamy & am maz nd g feaeu & oo Fag fegarg wise

b) memﬁaﬁmamm%m%mwa
(¢} a3 frodt f 3 o feaou § o niuey & FTTe} /it 9 '

(d) msﬁas&faaéfﬁﬁwarai%éﬁ'ﬁzam@ﬁ%

Using Marginal-costing method, ‘contribution’ is equal to sales_ revenue less:

(a) Direct Labour Costs : : O Total costs

(c) Variable Costs (d) Fixed Costs

i wars foeder ytie 39 32, ‘Goers’saEd I, feadt nines wes
@ yheEgdEast 0 () BT

(¢ uUfseasarts sast N (d) Ffag st

Shareholders’ wealth in a firm is represented by

(a) Number of people employed in a firm. .
(b) Book-value of a firm’s assets less the book-value of its llabllmes
(c) The amount of salary paid to its employees.

(d) The market price per share of common stock.

fox Tan &9 Awgoray €t Aust yeefis det 3 ¢

() TIv T &a Bat & fozst o

by S et 3 et s 5 QR Sz 2 forwet e § wer &

(c) fere Fanerdmi § fost ot swua € 93K T
(d) FUEs A © I3 And & 3AS SHS T

The long-term objective of ﬁnanmal managernent is to

(@) Maximize earning per share i ®) Maximize value of firm’s common stock

(¢) Maximize ROl (d) Maximize market-share

foft yius o dow THls Ger 3 ¢ o

@ yItime e §nifasHags (b) Z9H ¥ HUSS AT ©F HE Mt a3aT
(€) ROl mftasHadar (d) fere mag-foR § wiftasH a9
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28,

26.

27.

28.

Which of the following would be included in the Cash Budget ?

 (a) Depreciation charges ~ (b) Dividends
(© Goodwill ‘ (d) Patent amortization
It fefant (&9 fooz Om wwe R Afim 53 ¢ '
@ oS urer vod ) FiE |
(9 Au . (@) IR niftarg Uzg
" EOQ is the order quantity that __ over one planning period.
(a) Minimizes total ordering costs ~(b) Minimizes total can'ymg costs
-(¢) Minimizes total inventory costs (d) Minimizes the required safety stock

EOQ f&a gH H3T J 7 fox o 3975
(@) IBwasTHes § BBasnasdtd (v afawrérmaﬁs@maae’rﬁ
(© afsen:;:géfmaﬁ@maaéf% @) AS Dt FERt & f58a3H agdt

The term “Capital — Structure® refers to :

(a) Long-term debt, preferred stock and common stock equity’
(b) Current assets and Liabilities :

(c) Total Assets — Liabilities

(d) Shareholders’ equity

65 ‘ Capital Structure’ RET3 9

" (a) eﬁmﬁafa& ufasmnénmmfeaﬁz?r
© (b)) TG AUt w3 YEeEint

() & RS ni3 TEerdimt
(d) ' Tmig Toax o feafedt

The dividend payout ratio is equal to: |
() The dividend yield plus the capital gains yield.

(b) Dividends per share divided by eaming per share.

(¢} Dividends per share divided by par-value per share.

(d) Dividends per share divided by Cmrent—Prlce per share.
K FASE MEUS FTEI I

(a) ®amiE Myt Yt &3 |

() St Ao et o I Yt g SR

(©) Y3t M@ U ¥% g 391 Yt Ane Sanie

'@ qa’rﬁmawa‘hsgwwqa‘rﬁnﬁm -
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29.

30.

31.

32.

- 33

The capital of a non-profit organization is generally knoWn as:

(a) Equity . (b) Accumulated Funds

(¢) CashFund - (d) Financial Reserve

H9-5'3 HAEr & Udt m3 3 sa8E Y |

(a) feafect ) HAfes s

() AAEE | @ ftdse

Which one of the following is a method of Goodwill Evaluation ?

(a) Average Capital Method . (b) Super- Capital Method |
(c) Capital- Intensity Method (d) Super- Profit Method

Jot fefanit f49 faadt rmy yotee &t g Rt 9 9 |

(@) RS Uun et (b) mE-yh fedt

(© Uy fedt @ T3 fedt

Garner Vs Murray rule applies in case of :

(a) Admission of a partner _ (b) Retirement of a partner

(c) Deathofapartner | (d) Dissolution of a firm

Garner Vs Murray f5t fem rftst ffg &g §or 9

(a) TETH 2 TUS IE I (b) IS T AT yei3 92 3

() FTETBANITETI d) T e feursdz3

BPO Stands for :

(@) Business Process Outsourcing (b) * Business Process Output

(c) Business Privileges Outsourcing (d)  Business Privileges Output

BPO 3 I< I -

(2) Business Process Outsourcing (b) Business Process Output . P

(c) Business Privileges Outsourcing ~ (d) Business Privileges Output .

The industries which provide support service to other industries are known as:

(a) Primary industries (b). Secondary industries
(¢) Commercial industries. ~ (d) Tertiary industries
(a) WS Gevia (b) diz Gt

(0 =usx Bewar (d) IR Qowdr
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34.

35.

36.

. 37. .

Which of the following is a definition of Multinational Entelpnse ? o
(a) A company headquartered in one country, but, having operations in other countries.
(b) A company oppratmg in emerging economies.

(¢) A company eniploying foreign nationals.

(d) None of the above

Jat fefontt (RF faodt ag-amedt Gen & ufssmr 3 2

(a) e dust fare SEaocT g Re o dw i I R R o

(b) EsTI nigEfeerEret R i et durt

(c) fednt st § i 3 et st

(d) Gudsz et at

An outsourcer :

(@) Is always located in a foreign country.

(b)  Generates its revenue by producing for another company.
(¢) Provides recycling capabilities to the organization.
(d) Only produces standardized parts.

g aa9° aM F9s T

() o EgEB R IE Y _

(b) TR FuBt Bt Q3UrEs AIA NITHES YU T I
(c) FREr § HIRISTEI BoPTer Yors geT 3

d) firge it s o s aoer 3

Expanded form of [RDA is :

(a) Insurance Regulatory and Development Authority
(b) Insurance Reforms Development Authonty

-(¢) Insurance Restructure Development Act

(d) Indian Re-insurance Development Authority
IRDA ¥ feRfg3 gu 3 : -

(@) Insurance Regulatory and Development Authority
(b) Insurance Reforms Development Authority
(c) Insurance Restructure Devélopmcnt Act

(d) Indian Re-insurance Development Authority

Which of the following Public Sector companies provideé insurance cover to exporters ?

(a) ECGC (b) NABARD (c) SIDBI (d) IRDA
Jat fefan 9" faadt Aasa 939 dudt fserat 3 v e yors Faet 3 ¢

(@ ECGC () NABARD (o) 'sn)m (@ IRDA
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38.

. 39.

40.

41.

Reconstruction of a sick public sector unit is taken up by
(a) MOFA () MOU (c) BIFR’ (d NRP
#he AesTsa B39 feardng e usa-faane disr famr & '

(@) MOFAYMT (b)) MOUEMr (c)  BIFR g7 (d) NRP g

Disinvestment of PSEs implies :
(a) Sale of equity shares to private sector/ public
(b) Closing down
(¢) Investing in new areas
(d) Buying shares
PSEs® fefsm ¥ ge 3 :
(a) Teafedt it &t ﬁsﬁ’r BIIAET § ﬁaa’r
(b) I
(©) & 83T e fodm a5
@) o e
-
IFRS stands for :
(a) Indian Financial Reporting Standards
(b) Indian Financial Reporting System
() International Financial Reporting Standards
(@) International Financial Reporting System
IFRS S 3= d |
(a) Indian Financial Repottmg Standards
(b) Indian Financial Reporting System
(c) International Financial Reporting Standards
(d) - Intemnational Financial Reporting System

What is mortgage ?

- (a) A security created on immovable property for a deposit received by the bank.

(b) A security created on immovable property for a loan given by the bank.
(c) A security created on movable property for a deposit received by the bank.

(d) A security created on movable property for a loan given by the bank.

afad fuz Y 7

(a) ¥ ora yuz Ul o2t s Audt 3 Der I8t met
) ¥ oorT 103 AE o3 &5 oEt migs Audt 3 et
© 3oy et o 9% Audt 3 Ant
@ ¥ g o3 7z o) 35wt 9w et 3 et

Paper-11 (Commerce) 10



42.

43.

44,

45.

46.

47.

Miltort ¥riedman said that there is only one social reSponmblhty for a company to use its

resources for ) _
(a). Give as much to charitable-causes as possible
(b) Ensure Employment

(¢) Increase profits as long as it remains within the mles of the game |

(d) Provide good facilities for the workers

ﬁqmzﬂsﬂs%famn?ﬁféaauﬁsﬁfeﬂénﬁmnawmfﬁaafeaw

fRedt 9

(a) @amsﬁﬁwmaﬂaé@

(b) Fwarg wEE sElE

(c) #e 3 feg us  fam nidts Ifdst 3, wgtrr@%
(d) am@waﬁeuﬁwmmm

Management of social responsibilities includes all of the following cxéept

(a8 Economic (b) Caretaker (c} Legal

(@

' Ethical

(a) nrIEx M) foams (c) FTRa

- o

Mechanism to protect private networks from an external cyber-attack is

(a) Firewall (b) Digital signature (¢) Anti-virus

(a) Tfeges () %ﬁmaﬂarua (c) Meﬂ‘ean

Which type of advertisement appears ona wcb-page ?

(a) Pop-up ad (b) Pop-underad (c) - Banner-ad

%aaﬁéﬁnqm?faﬂm—aqmj@% y
@ Uu-nIAE (b)) u-nisa A (c)ﬁwaﬁs

The Environment (Protection) Act was enacted in the year

(a) 1986 (b) 1992 (c) - 1984
TITI5 (Hofter) wige for A ue 3fonr /it
(a) 1986 (b) 1992 () 1984
World Environment Day is celebrated on: - |
(a) December 1 (b) Junes ~ (¢) November 5
@ IfREE B ST E (© S
11

@
- (d)
@.
@

@

(d)

@

@

sz
Fénnatﬁi;g
TIRfEa.
D:soount ad |
forar@e A
1974

1974

August 10

10 mdAS § -
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48. What is the purpose of a *balanced score — card’ ?
(a) To combine a range of qualitative and quantitative indicators of performance.
(b) To relate business performance to customer satisfaction. !
(c) To measure contribution of people to business growth.
(d) To relate business performance to financial measures.
fog H3fs3 ART-Ies T &l 13T 3 |
(a) YEIHs 2 fefSs ge=ra ni3 IIza=3Ha Hoa & AUd ST
(b) U T YTIRG & QUBTIRT A3 5B HFET
(c) =u< ? fearm &9 a7 © WIT's & HY J3&T
(d) =u9 2 yoans & O3 Mfantt &% FaaT

49, Whatis COPRA?
(a) Consumer Operatmg Protection Regulation Authonty
(b) Consumer Protection Act.
(c) Consumer Protection Authority.
(d) Allof the above
COPRA ot & ?
(a) Consumer Operating Protection Regulation Authority.
(b) Consumer Protection Act.
(¢) Consumer Protection Authonty

@) 8udas Ad
50, Marine Insurance may cover loss or damage to the

(a) Ship (b) Cargo

(c) Any other subject of marine adventure (d) All of these

At €hr, T 7 A § o9 J9ET 9 ¢

(@ #AIAP () TWHATHSH

(0 miedtyfiHefardfend (d) Sudaz A
51. Which of the following is sequential model used to explain how advertising works ?
' (a) ADD (b) AIDA (c) PESTLE (d) SWOT

%ﬁw%mmmmmﬁm%@wm%wm
AT AT T IIIAITAHSH S ¢

(8) ADD (b) AIDA (¢) PESTLE (d SWOT

§2. What is the monetary limit to file a complaint for compensation before the National
Commission under Consumer Protection Act, 1986

(a) Upto 25 lakh (b) Upto 50 lakh (¢) Upto75lakh = (d) Morethan 1 crore
SuaasT Haftmr Bide, 1986%»1&3@231%&833?{%88?%&%&3@?
FI=Qs o Fur &t 3

(a) 253y 3 ) 50Ix () 75HWIR @ fasEEIem
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53.

55.

56.

57.

A person aggrieved by an order made by National Commission can appeal against such

- order to the:
(a) District court . (b) High court
() Supreme court (d) None of the above

mmm%ﬁwmmﬁﬁmmwﬁﬁﬁnﬁmaﬁ
RawT J

(@ fgoees | ®) 89w |
(© FI=CY nEw3 | (@ Gudaz aTt &t
Which of the following is relevant with respect to commercial bank ?

(a) Non- performing assets (b) Debit card

() Homeloans (@ Al of these

It fifamit fed' fxoar suraa ¥ a% AUz D 9 |

(a) d9-uTehila vre : (b) 3fgeTas

© w8 @) GuIF3 A

Trial balance is prepared to check:

(a) Equality of all assets and liabilities (b)  Arithmetic accuracy of accounting
(c) Valuation of closing account (d) All types of errors

3fes BB A ferdt Ay a9s =t gafonr Aior )
() Aot Fudinit w3 Yzedtort S AHsTT (b)  Burardt O afsfsw At

() a3 T ytaE . (d) TIA YT Tnft Igért
Somne assets easily convertible into cash are called
(a) Liquid Assets S (b) Current assets
(c) Fixed assets ' (d) Floating assets
I8 Rudinit nirat &7 F 99 ufseafss It g, st oo :
(@ 3 e | ) TG FSm
(c) AT Aot (d) 3T Audert

The reward a businessman gets for bearing the risks is called:
(a) Remuneration (b) Commission (c) Bonus (d) Profit

feani froar fa i Geviont Jfin Afoz a9a yuz aoe 3 08w I;

(a) fiasssr () A NORR-: @ =3
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58, Construction industry belongsto - - R SRR

(a) Primary sector (b) -Secondary sector . .1
(c) Tertiary sector o - (d) ~- None of these v
fsooE @t AW Y. ' ;s
(a) VB A9 5w . () FEEEs -
() IS UIT 3B (@) foost feg 3=t &4t
59. In aoo-operatifre society, the principle followed is: R
(a) One share one vote (b) One person one vote - .
(c) Multiple votes - (d) ‘No vote
ﬁanﬁﬁﬁﬂﬂﬁ?ﬁﬂmﬁ\wﬁﬁﬁ
@ frfmfad . ®) ¥ ferot g 22
() =g (d) ast <@ m°r'
60. Steel Authority of India limited has which form of organisation ‘
'(a) Statutory Corporatlon (b) Departmental undertakmg
(c) Government Company (d) Muitinational Corporation
st Rte mEradt fvfes fom yme S AR Y ¢
(a) FRfeusa FIUIRS M) fe39= GvoT .
(c) FIXI FuAT (d) HIITHIS TTUILS
61. Which of the following is not part of General Insurance ?
() Marine Insurance : * (b) Fidelity Insurance
(c) Fire Insurance ~ (d) Life Insurance
Jot fifanr fod fafos Aoes @R & I &dt 3 2
(a) ANedtEhr - (b) fogstdw
(c) viawt sty (d) <5 dr
62. Which of the following is not covered under the contract of indemnity 7 |
(a) Life Insurance (b) Fire Insurance
(c) Marine Insurance ‘ (d) All of the above
w&w&%mmyﬁ%mﬁamﬂwﬁ
(a) wites dhe R ) PHIWET ST
(o RAiEddr | @ SEIs A
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67.

Which of the following alone can ensure effective ethics programme in a business enterprise ?

(2) Replication of code , (b) Involvement of employees
(c) Establishment of Qompliance (d) Noneofthese
s Gon R 3t Rifnt AT’ foromr Tt &t ygremrdt st e 3 ot s e 3
(@ asdam -~ (b) IHEOIn S Ftert
(¢) TIHEIeS & FEUE | (@) feout &9 aet adt
Legal cost incurred in case of disputed land and building is classified as:
(a) Operating activity o (b) Investing activity
(c) Financing activity o (d) All of the above
mmmmméﬁﬁﬁamﬂa@ﬂmgmw% '
(@) »mHE asfedt ' ) faeEw asfedt
© fdafdt 0000 @ GuEmm
Average cost method of inventory valuation is suitable when there are
(8) Fallinprices (b) Rise in prices
(¢) Fluctuation in prices . (d) None of the above
A3 Ht WS fsauras < MRS B fadt Yert 3ot ) A |
(@) o3t uledingt 5 (b) hEt Fudnt 75

() hFREEU-wmderd = @ feast 49 3 &t
A very important component of management accounting is
(8) Financial Accounting : (b) Contract Accounting

| (¢) " Cost Accounting ' (d) None of these
s Burardt v e g3 Hoseyms T )

(@ fESt3wadt (b) TeITe Buardt
(c) oS et | (@) feost R4S 3t adt
Stock is : .
(a) Included in the category of fixed assets (b) Part of current assets
" {¢) Intangible ' (d) Tangible

(@) nfag Auzft & 5 Re s dor D () TF AuShft o I Jer

© nr3fs | @ 3= | |
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69.

70.

@

71.

72.

73.

Identify the item that is not taken into acocount in computing the current ratio:”:

(@ Land (b) Bills recoverable (c)

@ s () R Ga S (o)

Cash (d) Bank

- GA He O e &3 it fx O niguts &t aEE 795 AR fims R &0 &bt At

anm @ ¥

Which factors influence ethical behaviour in business ?

Paper-I1 (Commerce) 16

(a) Public disclosure (b) Pressure from top executives
(c) Inspiration from leaders . (d) All of the above
e Sy M rege § T3 By ae & 1
(a) Fovea RURASSS (b) €9 mifterdnt T TE
(c) 3I= aB YT (@) SGusazAd
Which of the following is part of capital structure ?
Equity Capital _ (b) Preference share capital
(¢) Debt capital , ~ (d) All of the above
ot fafant & o gt S o RO Y 7 |
(a) fefedt urt ®) U=IA Amig Gt
() 3fae uwit @ WS AN
Capital budgeting can be used for the purpose of _ |
(a) Machinery (b) Goodwill
(¢) -Raw materials (@ Land and Building
Afues aafda T yGar for 89F wet s 77 Aaer
(@ it ® Y
(c) T HS | @ i n3 fares
Dividend is the portion of :
(a) Current Assets of the company (b) Debt
(c) Assets of the company (d) Profit
wrane fImr & ,
(a) S T oE Rudintt T ®) fazar
(¢ TSt & Aust e @ ®»3T
360 method relates to
(a) Performance appraisal (b) Organization climate
(¢) Employer’s morale (d) Retrenchment
360 fedt Aduz J
(a) YEHS HBEE &% (b) FAE  HIS &8
() HBI T HEES & (d) wfons St &3St T



1 g TR

74,

75.

76.

71.

Which is the determmant of Capital structure ?

(a) '~ Gévernment policy - " (b) Control

(©) Tax _ ' (d) Rejuirement of investors
it = e fsduras d 3 -

(a) FIIS B , (b) fedzes

(c) &3 - (dy fsemat € Ages

Environient Protection Act is applicable to

(a) Private sector enterprises (b) Public sector enterprises
(c) Both (a) and (b) | (d) None of these

erareas Hefunr Mae g Jer d

@ forit 59 Qo & ) weEasIgenEs

© (a)m3 O = @ fegst 8 3R st

A theory is
| (a) An assuniption (:’b)' An “if-then’ proppsifion

(c) A hypothesis {d) A validated hypothesis

feafrsd

(a) e e ) R a-feg Fws
(© fEufEms @ @awﬁ:aufaamw

In drawing a farmers supply curve for a C'ommodlty all but whlch one of the followmg are
kept constant

(a) Technology

(b) Price of i inputs

() Features of nature such as chmate and weather

@ The prlce of the commodity under cons1deratlon
ﬁagﬂawﬁaﬁméwﬂ?ﬁmnﬁa@ﬁﬁnﬁﬁvﬁ@amm
CICUOR

(@) A&

(b) w3 E - |
(©) aeaaéhﬁfeﬁﬂ'ﬁ*h%ﬁwmm%ﬁm
d) ﬁw»@amé}m
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18,

9.

If the income elasticity of demand is greater than 1, the commodity is

(@) A necessity | () Aluxury |
(¢) Aninferiorgood = (d) A non related good '
ﬁaamérmﬁamala*éu%m%

@ faages { _(b) f&a fesmsr

(© ﬁawz’?mena *,‘ @) s Beus

If the amount of commodlty purchased remains unchanged when the price of another
commodity changes, the cross e-lastlcnty of demand between them is: :

(a) Negative {b) Posmve (¢) Zero @ 1

ﬁmuﬁﬁaﬂﬁamﬁm@wﬁaﬁgaﬁ:ﬁﬁﬂemwémm
get o, Qont fegara Har &t wrft 39 9

(@) foE=e ®) wHE (c) fres @ 1
I MRS, for mdmdual A exceed the MRSXY for B it is possible for md1v1dual A to gain
by giving up - |

(a) X in exchange of more Y from B

(b)Y in exchange for more X from B

(¢) EitherXorY
(d) We cannot say without add:tlonal information

ﬁaafemaa’tmsé’rmsxyﬁmaérmérMRsxysr#uﬁ fmaé“aétﬁnerm

. F9Y & YU FIE HST T
(@) B3® nfta Y R 58 X © () BB wimXTmBY
© XY | @ agm@i‘fa#aﬁaﬁma@
81. Consider thc following types of income |
1.  Personal Income S 2. Disposablé Income
3.  Private Income 4.  National Income o
~ The correct sequence in descending order of tihelr magnitude is
(@ 4,2,1,3 ®) 4,2,3,1 © 2,431 @ 2,4,1,3
3. Bftomes | 4. IHSH nmEs |
(@ 4,2,1,3 ® 4231 (¢ 2,431 @ 2,4.1,3
Paper-ll (Co“eree) 18 : , A
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82.

The burden of a tax on monopoly profit will be:

(a) - Entirely on the product "

(b) Entirely on the consumer

(¢) Equally distributed among the producer and the consumer
(d) More on the consumer than the producer

garfuary mﬁ% 39 o 39 Far ;-

© @W»@@umﬁaatawaaeﬁsm% : '
@ B3urew 5% GuEes ‘I A

Identify the items which are niot as opening expenses: - ,
(a) Loss on sale of motor car ' (b) General management salaries

‘. () ‘Depreciation of office equipments ~ - (d) Advertising expenses = - ¥
Het & ufgers ad 7 Bgnrdt uee &t 95 ¢ B
(@) ¥eg et & feadt €3 Tt  (b) FUEs yEUs SeMT
(©) =3H A As o furree @ yg9uad o

85.

A primary reason why nations conduct international trade is because:

§ o

(a) Some natlons prefer to produoe one thing whn]e others produce other thmgs

() 'Resources are not equally distributed among all tradmg partners

(¢)  Trade enhances opportunities to accumulate profits.

(d) Interest rates are not identical in all trading nations.

@ asma%aenaw@maaaaﬂaaefe%aa ﬁ'ef‘a'aq%e;ﬂweﬂwev
83ures IIe TG |

®) m%emaanﬁmﬁwﬁaﬁﬂmaﬁe%g@

() T &S niEfi3 a9s © FY wuger )

@) waaa%w%%wﬁaﬁnmww&ﬂaa

Relative to Countnes with low ratios of exports to GDP, Countries having lngh -exports to

GDP ratiosare _ vulnerable to changes in world market.

(a) Less : (b) More (c}) Equally (d) Any of the above

mécnpéwme@%ﬂr%mmé GDP Y33 3z Gar 32 95 |

@ wWe ®) (© mE @) GuEaRH
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86. Contradiction to Hecksher-Ohlin theory is
(a) Smith Paradox (b) Leontief Paradox
(c) Arrow’s Paradox (d) Veblen Paradox
Jomg-Efofes a3 T dss I ; '
(2) mfiE fedugm ) fugafes fesusm
() Mo fegasm | (d) s fedusm
87. Let elasticity of demand for exports for a certain country be ¢, and elasticity of ﬂemand for
imports be ey, Assume that the country devalues its currency. Its balance of payment will
certainly show an improvement if _
(@) ex=em=1 (b) extem>1 (© extem<l d) eten=1
H& B8 faR 20 ¢ faourst %2 Hal 591 e I S MitTS! B2 Hat &9 e, O | ¥ B8 F
NS HETT T nRHBE JaT' J, fErAe Z98s H3ms 98 Aud fsafes 93 a9
(@) ex=em=1 (b)) extem>1 (© e&ten<l @ et+em=1
88. If prices rise, the direct real burden of public debt will:
(@) alsoincrease | ® fall
(c) remain unchanged (d) beuncertain -
(@ wr by wear
(c) wfEg IJar _ (d) wleafes Jear
89. For a monopolist price is 16 and marginal revenue is 4, the elasticity of demand will be
(@ 4/3 ) 4 - () 4 @ 1/4
gafuardt v 16 I 3 WS nmies 4 3, Viar S Boa IR |
@ 43 ) 34 © 4 (d) -1/
90. A perfectly competitive firm faces Profit = T 4 and Total Cost = Q° - 7Q? + 12Q + 5 where
Q is the quantity sold. The profit earned when 4 units of quantity are sold is:’
(@ 210 ® T © T2 @ T2
o yo5 yorew @9 § 513 BT I 4 UE 3 IS IR Q- 1P + 12Q+5 , T Q
It TE WS IRS 4 T [ At TS T HF I ¢
@ 10§ ® 1172 © 203@ @ 2478
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91.

92.

9,

94.

The short run supply curve of the perfectly competitive firm is given by:

(@) The rising portion of its MC cusye over and above the shut-down point

(b) The rising portion of its MC curve over and above the break-even point |

{c¢) The rising portion of its MC curve over and above the AC curve

(d) The rising portion of its MC curve

Y95 HATHS TIH oF B Y9t dara i At 9
(a) fERStMC o ® due A m3 e s8s fig 3 Qe

(b) feret MC Fa@ € Foe fIR i3 37 dtes fig 3 6w

(c) TERFIMC Ja9 @ ue fIA ni? AC T35 T

d) ferdtMC Ja3 3 8us

If the demand curve for a monopolist’s commodity are identical in two separate markets,
then by practising third degree price discrimination the monopolist:

(@) Will increase TR and Total profits

(b) Canincrease TR and Total profits

(c¢) Cannot increase TR and Total Profits

(d) Will charge a different price in different markets

Ao Serfuerdt @R € i T ¥ -y wet T e 3 3 SIRY TeR © o el
& o earfaardt

(a) TR n3 % &' IUEar ‘ (b) TR M3 3% &3 U AT I

() TR»3 &% &3 5«0 AAE" (d) Ju-<u gFrgt g Fy-3d e B
When TP falls : ‘

(@) The AP, . is zero - (b) TheMP, . is zero

(¢) The AP, is negative (d)  The AP, is declining

W TPURE Y |

(@) APupoy ST I () MPibour ST I

(€©) AP TEIHI T (@) APy Wt 3

All the following curves are U shaped except .
(a TheAVCcurve (b) The AFCcurve (¢) TheACcurve (d) TheMC curve
(a) AVC T&d (b) AFC =59 (c) AC<ad (@ MCZJ9
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95.

96.

g

An entrepreneur running a business takes out ¥ 20,000 year as ‘salary’-’from the total

receipts of the firm. The implicit cost of this entrepreneur is: 53
(a) ¥ 20,000 year (b) More than T 20,000 year
" (c) Less than ¥ 20,000 year (d) Any of the above is possible

i Goit zan ot I® Yl AT 20,000/~ FEET ‘SR J9 Y e Y | B
S 5z Has Y - o | o

(a) 20,000 U FEE (b) 20,000 FE& I T ...
(¢) 20,000 B FEE Fule @ GREsgsdAs=Y

If MU of the last unit of X consumed is twice the MU of the last unit of Y consumed, the
consumer is in equilibrium only if : ‘

() The price of X is twice the pricé of Y
(b) The price of X is equal to the price of Y
(c) The price of X is half the price of Y '

.(d) Any of the above is possible

mxﬁmW%&mﬁMumYﬁmW%@mém% |
QusasT Azss F9 I Aew

@ XTamz YRz 2IT (b) xé’raﬁ}BYélsihB%aaraa%
© X& MY T I 2wt @) Qs gsd dseadd
97,  Sales of fixed assets to foreigners is : , . _ _
(a) Export of goods ‘ (b) Unrequired receipts
(¢) Capitél receipts (d) None of the above . -
fox fdift g A R WY -
(a) eHI © fsaums o (b) AT yruSoft
() U3 Y @) SuIa3 I &
98. The law of reciprocal demand is associated with -
(2) ~ Alfred Marshall | ®) J.S. Mill
(¢) David Ricardo o (d) None of the above
UIAE Har T fso AEas 9 :
(@) OIS HOHS 5 b A S TS
(c) 3fes foads &5 (d) Sudas det &t
Paper-lI (Commerce) 22 | A
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l w’

IMF deals with

'(8) Developmental finance =~ _ (b) Managing balance of pajment

~ (¢) - FreeTrade = . (d) Maintain of peace among nations

. IMF fearg aeer 3 - -
@ RamfddRses ® FEEATESYuEs
() mizmaud o  (d) THEcT fegarg wE e FuE B
Budgetary deficit does not take into account: - . : '
(8) Revenue deficit (b) Capital budget deficit
(c) Balance of payment deficit (d) Interest payment on public debt -
Eeuw g feomim st der d : |
(8 wmEsWE ®) YR we wer .
© FEBRITmsWE 00 @) Haeamfi’gﬁzéﬁwm

101,

102.

103.

104.

Keynesians favour

() Fiscal policy (b) Monetary policy () ~ Credit policy (d) Income policy
ASHMIS ANTES STC Ta: ' |

@ TRRAR ) MA@ A it (@ »inEs At
‘Sensitive Sector’ as defined by Rl include : - | E

(a) Capital market (b) Real estate (c) Commodities (d) All of the above
RI gnrar yofis ‘Aeveris bz’ fle miiy . o

@ Yt s ®) »EERES () T (@) SWIIAI
Which of the following is termed as Money Multiplier

(@ RatioofM,toM, _ (b) Ratio ofM_.,ItoM0

() Ratio of M, to M, (@) Ratio ofM0 toM,
w&mﬁaﬁnﬁmm%%éﬁﬁwwﬁ

@ M,3M,& ngu3 : ) MM, T nigus

© M, FME U3 @ M, T M, T risu3

Which of the following is the most volatile flow of foreign exchange ?

(a) Foreign direct investment (b) External assistance -

(c) Foreign Institutional Investors - (d) External commercial bormwmgs
ﬁ@ﬁﬁ»ﬁﬁa%@ﬁ@ﬁﬁ?@?@ﬁ@ﬂ&m%

(@ YPufemfsts - (o) SRt RfgSR

© ferft Armas i3 @ T suex Gug
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105. Which of the rate is not determined by RBI ?

(a) Bankrate ®) CRR (¢ SLR (d)”* PLR
g3t vg ©r fsauras RBI enirar a4t &isr Ater ¥ |
(a) ¥ w9 (b) CRR © SLR (@ PLR

106. What is ‘Green Banking’ ?
(a) Bank financing on pro environment projects
(b) Bank financing to agriculture |
| (c) Bank financing to irrigation
(d) All bank financing to farmers

‘s ¥ty 7

() ¥ fRact@3 3RV (b)) FaudtsEtfsfie o

(© YaffodteifisfRaos @) FI¥yfars s 3 fivas
107. RuPay’ is _ _

(@) New Currency of RBI '(b) Card Payment Network

(¢) New name of credit cards of bank (d) Credit card to farmers

¢a.a a. .

(@ RBI & &= a9t ‘ () 9B IS AT

(¢) ¥a2fseaas wrae aH d) famsr o dfse as
108. Which of the following is not heipful in controlling money supply ?

(a) Free market policy (b) CRR

(c) Bankrate (d) Change in margin requirements

It ffamit S fora wear & yat & fotisas a9s R Rofed &4t 3 ¢

(@) FESIEIEH (b) CRR

(¢ &9 | (d) HH3 AgSst P9 ufeeass

109. An empirical study on relationship between the rate of money increase and rate of '
unemployment in the economy was given by

(a) A.W. Phillips (b) J.M.Keynes

(¢) R.F.Kahn (d) Emst Engel
mﬁeﬂwﬁam@émﬁﬂmﬁ%mﬁu‘%%qﬂwﬁum
fazr famr A,

(a) sEf&Q. fefou gnmor (b) A, ABH TATTT
(c) Y. WIS ATE DA (d) VIEHT HIVS ToTaT
Paper-II (Commerce) - 24 _ A



110.

111.

112.

113.

114.

115.

In Nominal GDP is equal to real GDP, then

(@) The GDP deflator is equal to zero (b) The GDP deflator is equal to one

(c) The GDP deflator is less than one (d) None of the above
N9 &% GDP A% GDP ® 59799 9, feg |

(8) GDP fscdeq fimg 2 aoaa D (b) GDP fse®ea ¥ 1 5aa9 )
() GDP fsedes fea Fule D @ Budss det st
Inflationary gap measures the excess of aggregate expenditure over the aggregate supply:
(a) Before full employment . (b) At full employment
(c) Beyond full employment ' (d) Both(a)and (b)
HETTREIS W34 & Hal ¥ g Yot 3 28 o v 9 3
(a) Uds Frare 3 ufost (b) Y35 g9 3
(¢) YIS grErg 3 EmE (@ (a3 (b) T
In Cobb-Douglas producuon function the elasticity of substitution between factors
(@) Zero b) Equal to one
(c¢) Greater than one (d) Less than one
Fg-3IWH G3ues ems feu, AUt fegarg yfsraus soa 9
(@ Tfes b)) fFa2agae
© fEazzu | @ fFa3ue

A fall in the pnce of X from ¥ 12 to ¥ 8 causes anlncrease in the quantity of Y demanded
from 900 to 1100 units, X and Y are:

(@) Compliments (b)) Normalgoods (c) Substitutes (d) Inferior goods
X%'HaéfaﬁﬂalzauéawzasauéUEMYmémﬁmmfea@nﬂa _
%aalloofewélnrrawér?rlxm\faa

(@ YId (b) AUSE ERST - (c) qahranm d) uhr ZAzt
A honzontal supply curve mdlcatw an elastlclty of supply that equals

(@ Zero (b) . Infinity © One (@ -

& Be<t Har 9ur TeRr@et 3 Har & woa: o

(@) frss (b) »E3 © fe= @ -1

Taxes which levied entirely on the basis of the money value of the goods are:

(8) Specifictaxes (b) = Advalerem taxes (c) Income tax (d)  Excise duty

o9 fira3 & y9a 39 3 ang 2 Hefoa s @ v 3 &2 A 06:

(@ fefead () MBWIHET  (c) MHES FI @) et 584
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k. b

116. Themhmmstratweaspectofataxare

117,

118.

(a) Canons of taxation : (b) Principles of taxation- o
(c) Characteristics of taxation (d) ',Concepts of taxation -
f¥x o9 = ydudlt 3 o o
(a) ot g3 | ~ (b) s R frui
(c) g dnft feRmsT=t )] aamé]m*u'a?ﬁ'* .
Expenditure tax was mposed in 1958 on the recommendations of
(a) Adam Smith ' .(b) H Dalton

- (¢) Prof Kaldor ' (d) Prof Plgon
19ssﬁauaaaaﬁne?fnerfan‘§mrﬁwﬁwﬁt

(9 Al o b) WO, 3
© fEawss @ Fhw |
In both the Chamberlin and the Kinked Demand Curve models, the Ohgopohsts

- (a) Recognizes their interdependence (b) Do not collude
(¢) Tend to keep prices constant. (d) All of the above

119.

SaatEs n2 fdas Var Eam, Sot wset ¥ misurfaarst
(a) St nizfsgss fenias aa° 76 () TR IE
(© A dEfRegi®R o (@) GWII AT

When the perfectly competitive firm and industry are both in long run equilibrium ?
(a) P=MR=SMC=IMC (b) P=MR=SAC=LAC
(©) P=MR=Lowestpointon LACcurve (d) Allofthe above.

YI5 Hare gaH mi3 Gt 9% diw o Ages S Afet Read Je os ?
(@ P=MR=SMC=IMC - (b P=MR=SAC=LAC

() P=MR= mceaaerﬁ;@aanﬁe @ Qudas A

120.

121

When @ = 3/4 and B= 1/4 for the Cobb-Douglas pmductnon fun(mon, retums to scale are :

(a) Constant : (b) Increasing

(c) Decreasing (d) First increasing then decreasing
FH-SIBH B3Us o5 BE A a = 3/4m§ﬁ=1/4 t‘:w%%qf’sama '

(@ nf | ®) T
© wew S @ ufost ¥R fes e

The LAC curve is tangent to the lowest point on the SAC curve when LAC curve is falling
(8) . Always- () Never () Sometimes - (d) Cannotsay
LAC Ja@ SAC 33 ‘3 fs@aay fily ‘Y mugn aaet 3 7@ LAC uie 3 §&

@ o ®©) & @ Fat (@) BostwEe
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122. Kinked demand curve is related with

126. The Gold Standard exchange system prevailed in

(a) Between 1860-and 1910

(©) Between 1880and 1940
_ T85 AESTS MR YT YOnS Fﬂ
@ 1860m31010feEay
© 188031940 fegara
Multiple stratified random sampling is
(a) Probability sampling

(c) Non probability sampling
- MBS AIdteTEs IeH Rufdar Er
(@), yAfEfsdt Rufde
(© d9- q@ﬁﬁs‘c’f ﬂ‘uﬁ‘s‘clr

A ' .27

127.

®)
(d)

®)

@

®)
@

®)
©

(a) Monopoly (b) Discriminating monopoly
(c) Oligopoly (d) Perfect Competition
fiers Vi 29 AdS D o
(a) oofaars &% (b) 3oydd EXfoe &% -
() Uty &% (d) YIE HIED 5 :
123. Who is the custodian of monetary reserves in India ?

(a) SBI . (b)- SIDBI - (¢) NABARD {d) RBI
393 f¥9 fiefaa s o dfima dz & 7 . , |

| (@) SBI ' (b) SIDBF- ‘() NABARD - (d) RBI

124. Balance of invisible includes - -' . -
(a) Exportof serviéts (b) Import of services
(c) Both(a)and (b) o  (d) Noneofthese
@) Pee e fsads. . (b) AR e e
() €2 (a) M3 (b) (d) Budas o=t &t

125. Which of the following is not an mstrmnent of monetary policy ?
(a) Deficit ﬁnancmg (b) Statutory hqmdnty ratio
(¢) Cash Reserve Ratio : ~ (d) Open market operation
(@ wedfesfemmm. - (b) Feged T wEs .
(©) A foagenizus: (@

Between 1910 and 1939 -
Between 1914:and 1939

1910 »31939 fegg
1914»{%19391%8&!3

Selective sampling
None of the above

"ﬁ_?z‘ ﬁ_"ﬁ"" ARy
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- 128. If the sample size increases the sampling error

(a) Decreases (b) Increases :
(c) Remains constant (d) None of the above
39 AU niarg Juer J 3t Aus 398t -
(@ U (b) FOeErd
() nAfEg G (d) Budaz a=t &it
129. F-test is used to test the significance of the difference between/ among
(a) Two sample mean (b) More than two sample mean
(c) Variable of two sample (d) (b)and(c)
F%m?wﬁawﬁammérm?s%ﬂzaaﬁwaﬁ?w%
. (a) € RUS HOHS (b) € 3 g RUS oS
© TRWE d O3 ()
130. Which of the following are the characteristics of a data
(a) Aggregate of fact : ~ (b) Numerical expression
(c) Affected by varylng cause {(d) All of the above.
(2) Jut T Adss (b) FimraHa mfsfeniasr '
(c) 3T gne I (d) Gudaz Ay
131. Chi-square test is expressed as _
@ ¥ ®) * @Y @ 7
TE Aofg SFE SeRTenT AT Y '
@ oaer ®) LT () YA @) “oner
132. Co-efficient of correlatives will always be - '
(a) Morethan0 - (b) More than -1
(¢) Lessthan-1 (d) Between—1 and + 1
Afg AgTt o gistel J=ar
(@ 033 ® 133 () -13Fufe @d -1»3+1 fega9

133. Which of the following are not the limitations of statistics ?
() Homogeneous statistical data
(b) Analysis of data
(c) Presentation of means
(d) Statistics are true in the long run and on average
Jot ffamt f&9° Tt Aiftmiclt < A a3 T 7
(a) FMgH Afang A3 (b) wiafamt o ferSRE
() WASt T YIRS (@) Aifonel dow e T wiFEa At g9t 9

Paper-11 (Commerce) : 28 ' ' . A



134.

135.

136.

137.

138,

139.

Which of the following is/are the characterstics of Karl Pearson’s coefficient of co relation

(a) indication of degree : (b) Indicators of the direction
(c) Satisfactory measure (d) All of the above

It fefanit 199" oot aras Uniars Riddu geia o fefmar 3

(a) fsardt & Aoz () fewrerAaz

(c) SHHTUHHY () Gusa= A

T-testisa . . |

(a) Parametric test , (b) Non parametric test

(c) Large sample test : (d) None of the above
T2REJ |

() R Ynfiefox 2re (b) ¥ d9- Yanftefox 2re
() fos Rus 2Rz | @ SuSesadtat

Data collected from the published books are called
(a) Primarydata (b) Secondarydata (c) Tertiary data (d) None of the above
(2 NS nias (b) diErias (© TS  (d) Sudaz FEt &t

Data integrity refers to ihe ‘

(a) Simplicityofdata - “(b) Privacy of data

(c) Validity of data (d) Security of data

midfant & mdszr g Y

(a) wiafanf & AIsT (b) riafant o famzr

(c) rigfanmt & uzr  (d) vidfamt S gdfimer

As the value of x increases and the value of y decreases, then the coefficient of correlation

will be

(a) Positive . (b). Negative (€) Zero (d) None of the above
X € % duer I mR y o % uleer J, 3t Ay Ada v gt 9
() UEHI b)) faa=m (c) fhga @ Gudas &t adt

Which average would be suitable to find the average size of readymade garments ? |
(a) - Mean (b) Mode (©) Median (d) Arnthmetic mean
IS Fufamft & WA WY B3 BT Quuas WiRs faost 3R '

(a) WAS (b) =T (©) Wftmiar (d) Wedfss anrs
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140. Which average would be suitable when quantltles of variable are in ratios:
@) Mean " (b): Mode - (¢) ~"Median " (dy-*None of these :
-ﬁ-%wammﬁagﬁ%?hﬁﬁm@g&zﬁ%ﬂ e i
(a) WoHs. (b) Fg& (o) HfamRr (d)-frast &8 a2t &t
141. Median can be calculated from R
(a) Individual series N . (b) Dlscrete series | .
(c) Continuous series (@ Al of the above o
Wimier & gear At T REE Y ‘
@ foFfwss () A=
(¢ fedsas=ts @y BudEs A9 -
142. From which formula mode can be calculated
() 2 median -3 mean (b) 3 median - 2 mean
() 3 median -2 median (d 2mean- 2 median
(@ 2 ¥ 3 HOs (b) 3 Wftmigr -2 Hours
(c) 2 Hftpiar- 3 Hithar : (@ 2 Hous -2 Hftniar
143. Semi interquartile range is also known as : |
(a Mean deviation - ' (b) Standard deviation
(¢) Quartile deviation : (d) Quartile range
it nizguzoaa ferag § fE9 ér 12—:@ wter %
@ ¥ feass | @) wpmifeses e E
© gaaaaﬁm o d aaaaafenw ST
144. Which of the followmg is the charactenstlc of index number ? . .
(a) Expressed in percentage - () Comparative measurement
{c) Measure of changes - ' "~ (d) Alloftheabove
Jot ffami 59 faot g wiet & feimsT & I
(2 q-:ﬁﬂs'ﬁaeaméfm”r% ®) IEEIHI HU
(c¢) TIF T HY o (d) QUFEE AY . 3 Lt i
145. The synonymous of consumer price index is : ‘ " Y
(a) Weighted index T (b) Welfareindex
(¢) Cost of living index (d) None of the above - -
(a) I3 FE i - (v SferE gea v
(c) s &3 F nid | @ Sudas I A
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146

147.

- 148,

149,

150,

Ifthetworegress:onooefﬁmentareOSandOZ thmthevalueofeoefﬁclentofcon'elatloms

(@ +016 (b) -040 (@ -0.16 d +040
A € YoM 5O Wig 0.8 113 0.2 T&, 805t T AfT AdT R It e iy
(a) +016‘ () -040 © - 016 @) +0.40
" Which of the following is not a measure of dlspersmn ?
(a) Skewness (b) Mean devmnon
(c) Standard deviation | | (d) Quartile deviation
dot ffamit 2 foxar YA & HY azﬂ' 37 -
(@) f3geuE e wry : : () ¥uafeomz
(€) pu feomz o (d)_asaaaﬁaaé-
Whlch average is better for the construction of mdex numbers out of the foIlowmg |
(a) Arithmetic mean _ (b) Geometric mean
(c) Median | (d) Both (a) and (c)
HOR iat & fsanE aet ot ot A5 foiost s fose D 7
(@ n»ia a'lf‘as‘t HoHs (b)) Eia st s
© Hitmer @ @3 ()
Which price index formula is considered ideal among the following
(2) Paasche’s price index (b) Dorbish-bowley price index
(c) Fisher’s pnce index | (d) None of the above
It fefanit R oo ats 1ot v Srayes nream Hfonr Ater 3 ¢ |
(@) U T A3 FER wix i (b) Sufgr-a83 = T3 Fua rix
(©) ﬁ:nae*aﬂﬂaﬂaa»ﬁ . @ Euﬁaaﬁérm‘l' |
Which of the fo]}owing is the relative measure of the skewness ?
(a) Mean—_médian o (b) Mean—mode
© Q3+QI-2MD - (@ Mean-mode/S.D.
. ﬁwﬁ@nﬁfﬁ‘f&wfsﬂh@?wﬁuw%?
@ Mo -few () W — g
© @+QI-2MD @) Wore - 5gER/ S.D.
n " Paper-II (Commerce)



Paper-11 (Commerce)

SPCAE FOR ROUGH WORK

32

[



